SAP ABAP table GLTO1 {FI-SL Table with Objects, Structure Corresponds to GLT1}
GLTO1-RCLNT = TO00-MANDT

e o.N | 1000
-7 MANDT [CLNT (3)]
" GLTO1- RBUKRS = T001-BUKRS
K UKRS = TOOL-BUKRS N T001
/ - 0.N
/ - MANDT [CLNT (3)]
/ 7
/ ,/ GLTO1-SBUKRS = T001-BUKRS _0..N BUKRS [CHAR (4)]
01} .- o
¢ > T006
- GLIOL-AUNIT=T006-MSEHL - "MANDT [CINT (3)]
{01y -~ MSEHI [UNIT (3)]
*~ GLTOL-RUNIT = T006-MSEHI _ 0.N
0,1y .-~ 0007
i T821S
-~ GLTO1-CSPRED = T821S-SPRED.__  "MANDT [CLNT (3)]
1 - SPRED [CHAR (4)]
_~” GLTO1-QSPRED = T821S- SPRED 0..N
01y -
e T856
_~" GLTO1-RMVCT = T856-TRTYP
0.1} S TTREEERE 0..N | MANDT [CLNT (3)]
e TRTYP [CHAR (3)]
1013 GLTO1-SMVCT = T856-TRTYP _ 0.N
_{O.,l}- _______________ T880
101y CLTOT-RASSC = T880-RCOMP
10.4} GLTO1-SASSC = Tggo-Rcomp  0.N |MANDT [CLNT (3)]
—————————————————— 0..N 'RCOMP [CHAR (6)]
1-_  GLTO1-RLDNR = T881-RLDNR

TTe -l T881

. GLTO1-RVERS = T894- RVERS 0..N | MANDT [CLNT (3)]
RN RLDNR [CHAR (2)]

~<_ T894
. _ _ ~ o~ - | MANDT [CLNT (3)]
NN " [RLDNR [CHAR (2)]
- RVERS [CHAR (3)]

{0,19,170,1%0,1} R TCURC
Lo R

S . GLTO1-RBUSA = TGSB-GSBER  0..N | MANDT [CLNT (3)]
Lo -~ WAERS [CUKY (5)]

AN -l TGSB
NN B ' [MANDT [CLNT (3)]

o GLTOl ‘RKOKRS = TKAO1-KOKRS | GSBER [CHAR (4)]

' Tt TKAO1
MANDT [CLNT (3)]
NS _0-.N KOKRS [CHAR (4)]

- — —_——




